
Please read this user manual carefully, it contains instructions for the correct assembly of the KIT.
Please refer to the website www.goblin-helicopter.com for updates and other important information. Thank You 

Socket Head Cap 
Screw M2.5x8mm
(HC020-S)

Landing Gear Cover
[H0737] Socket Head Cap 

Screw M2.5x6mm
(HC018-S)

Finishing Washer M2.5
(H0007-S)

Gear Z48
[H0745]

Socket Head Cap 
Screw M2.5x8mm
(HC020-S)

Landing Gear Gear Support
[H0749]

Socket Head Cap Screw 
Shoulder M2x15mm
(HC495-S)

Landing Gear Motor Mount
[H0744]

Landing Gear Cylinder
(H0742-S)

Landing Gear 
Unit Support
[H0759]

Button Head Cap 
Screw M2.5x8mm
(HC019-S)

Motor
(HE016-S)

Landing Gear Cam
[H0741]

Actuator
[H0747]

Retract Landing 
Gear Red
(H0884-S)

Socket Head Cap 
Screw M3x12mm
(HC062-S)

Gear Z36
[H0746]

COMET Retractable Landing Gear Exploded View 

This KIT was designed to replace the standard landing gear contained in 
GOBLIN COMET KIT.
Any standard landing gear acts like an airborne brake. 
To get the best performance, the landing gear must retract into the fuselage.
This KIT uses an electric motor that powers the landing gear allowing full retract.....
The device functions just like a servo. 
You will need to use a receiver channel and combine it with an on-off switch 
powered directly from the receiver channel (7.4V). With a 0-100 signal, you can 
control the extension and retraction of the landing gear.

Seeger
[HC504]

Landing Gear Pin
[H0743]

Flanged Bearing 5x 13x4
(HC412-S)

Flanged Bearing 6x 13x5
(HC414-S)

Motor Cover

Free Channel 7.4V

Note 
The main module is already assembled with 
Loctite and tested. You only need to assemble 
the electrical unit and the landing gear H0884.

No Code Name Quantity
1  H0255  Finishing Washer M2.5 1
2  H0737  Landing Gear Cover 1
3  H0741  Landing Gear Cam 1
4  H0742  Landing Gear Cylinder 1
5  H0743  Landing Gear Pin 1
6  H0744  Landing Gear Motor Support 1
7  H0745  Gear Z48 1
8  H0746  Gear Z36 1
9  H0747  Actuator 1

10  H0749  Landing Gear Gear Support 1
11  H0759  Landing Gear Unit Support 1
12  H0884  Retract Landing Gear Red 1
13  HC002  Socket Head Cap Screw M2x5 2
14  HC018  Socket Head Cap Screw M2.5x6 1
15  HC019  Button Head Cap Screw M2.5x6 2
16  HC020  Socket Head Cap Screw M2.5x8 6
17  HC050  Socket Head Cap Screw M3x8 2
18  HE017  Electronic Unit 1
19  Motor 1

Page 1

COMET RETRACTABLE LANDING GEAR
[H0742-K]

H0
74

2K
_R

ev
01



Flat Head Cap 
Screw M3x8mm
(HC134-S)

Retractable Landing Gear
Assembled

Tail Boom

To free On/Off channel

INSTALLATION OF THE RETRACTABLE LANDING GEAR ON THE BOOM 

Retract Landing 
Gear Red
(H0884-S)

Electric Unit
(HE017-S)

Double side Tap

You will need to solder the motor 
wires to the motor, ensure to use heat 
shrink to cover the motor contacts.
( See Picture ).

Socket Head Cap 
Screw M3x12mm
(HC062-S)

Main Module

SPARE PARTS

• Before every take off, you must check the correct operation of the landing gear. After connecting 
   the receiving system, lift the model manually (with your hands) and preform a full landing gear
   retract and extension. 

• Check the landing gear cam regularly, keep it clean and add lubricating oil. 

H0884-S : Landing Gear Red 

HE017-S : Electric Unit

HE016-S : Landing Gear Motor

IMPORTANT

Note 
The main module is already assembled
with Loctite and tested. You only need 
to assemble the electrical unit 
and the landing gear H0884.

Motor Wires

RX Wires

No. Code Name Quantity
1  H0255  Finishing Washer M2.5 1

2  H0737  Landing Gear Cover 1

3  H0741  Landing Gear Cam 1

4  H0742  Landing Gear Cylinder 1

5  H0743  Landing Gear Pin 1

6  H0744  Landing Gear Motor Support 1

7  H0745  Gear Z48 1

8  H0746  Gear Z36 1

9  H0747  Actuator 1
10  H0749  Landing Gear Gear Support 1

11  H0759  Landing Gear Unit Support 1

12  H0884  Retract Landing Gear Red 1

13  HC018  Socket Head Cap Screw M2.5x6mm 1

14  HC019  Button Head Cap Screw M2.5x6mm 2

15  HC020  Socket Head Cap Screw M2.5x8mm 6

16  HC050  Socket Head Cap Screw M3x8mm 2

17 HC412  Flanged Bearing 5x 13x4mm 1

18 HC414  Flanged Bearing 6x 13x5mm 1
19 HC495  Socket Head Cap Screw M2x15mm 2

20 HC504  Seeger 6mm 1

21  HE016  Landing Gear Motor 1

22  HE017  Landing Gear Control Unit 1

Page 2

COMET RETRACTABLE LANDING GEAR
[H0742-K]


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3

	Page2-LDR-C.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View5



